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(b) 
( ) ( )

( )

3 25 3 34

25 3

625 0.00001 729 0.008

243 125

− −

−

 × × × 
 

 × 
 
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01 Number Systems 
 (Work Sheet – 2) 

 
 

 
1. Visualise 2.4619 on the number line using successive magnification. 
2. Visualise 3.62 on the number line up to 5 decimal places. 
3. Evaluate each of the following: 

(a) ×2 36 6   (b) 
−

 
 
 

3
2
3

 

4. Evaluate each of the following: 

(a)      
× ×     

     

4 2 3
2 11 3
11 3 2

  (b) 
−

     −
× ×     

     

5 4 1
1 2 3
2 3 5

 

(c) 
−

     
× ×     

     

2 3 2
2 2 3
3 5 5

  (d) 
− − −

     
× ×     

     

3 3 3
4 281 25 2

16 9 5
 

5. If a = 2 and b = 3, then find the values of each of the following: 

(a) +a ba b   (b) +b aa b  (c) ba     (d)  
 
 

a
a
b

 (e)  
+ 

 

1 1
a

a b
 

6. Simplify each of the following, removing radical signs and negative 
indices: 

(a) ( )−3
4   (b) ( ) ( )− −

×
3 3

5 2  (c) 
−3 5

1
4

 

(d) ( )−
×

1
3325 16  (e) ( )−

1
23 8   (f) ( ) ( )− −7 5

4 2  

7. Simplify each of the following: 

(a) ( )−
1
4625   (b)  

 
 

5
4256

81
  (c) 

−
 
 
 

4
5243

32
 (d) ( )

1
30.001  
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(e) ( )−35 32  (f) ( )−
2
50.00032   (g) ( )−23 343  

8. Simplify each of the following, where x, y and z are positive real 
numbers. 

(a) 2 3x y−   (b) ( )5
3x−  (c) 

22 1
3 2x y

− − 
  
 

 

(d) ( )
2 1

43 2x y xy
− −

÷   (e) 2 23 xy x y÷   (f) 4 3 2x  

9. Simplify 

(a) 
( ) ( )

( ) ( )

3 3
2 5

5 4
4 3

25 243

16 8

×
  (b) 

1

2 2

16 2 4 2
16 2 2 2

n n

n n

+

+ +

× − ×
× − ×

 

10. Simplify: 

(a) 
3 3 3
4 281 25 5

16 9 2

− − − 
      × ÷             

 (b) 
57

1 2 2 32 2

2 4 3 5

5 7 5 7
5 7 5 7

−− −

− −

   × ×
×   

× ×   
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11. If x, y and z are positive real numbers show that: 
1 1 1. .x y y z z x− −  = 1 

12. Show that: 

(a) 
( )

( )

ca b c b

b a c a

x x
x x

−

−

 
÷  

 
= 1 (b) 

( ) ( ) ( )
( )

2 2 2

4

a b b c c a

a b c

x x x

x y z

+ + +

 = 1 

13. Find the value of x, if  

(a) 3 2 85 .3x x− −  = 225.  (b) 927
3

x
x=  

14. Prove that: 
1 1 2

1 1 1 1 2 2

2a a b
a b a b b a

− −

− − − −
+ =

+ − −
. 
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15. Prove that: 

(a) 3 63 1 6 33 5 3 5 3 5
5

− −× ÷ × × =          (b) 
1

23 02 19 3 5
81

−
 

− × −  
 

 = 15 

(c) 
12 22 031 9 163 8 4

4 16 3

− −
   

− × × + =   
   

   (d) ( ) ( )
1 2

2 31 30.01 27
4 2

−
+ − =  
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16. Find the value of x in each of the following: 

(a) 55 202 2 2x x÷ =   (b) ( ) ( )43 22 2
x

=          (c) 
2

3 5 125
5 3 27

x x
   

=   
   

 

(d) 2 2 35 3 135x x− −× =  (e) 5 42 5x x− −×  = 5        (f) 7 42 5x x− −×  = 1250 
17. For any positive real number x, find the value of 

a b b c c aa b c

b c a

x x x
x x x

+ + +
     

× ×     
     

 

18. Simplify: ( ){ }
21

1 4
2625

−
− 

 
  

 

19. Write 
1

2
31 125 27

9

−
 

× × 
 

in form of a rational number. 

20. Simplify: 

(a) 
( ) ( ){ }

2 23 25 3

1 1
4 4

243 2 125 3
32 3 27 5

256 625

− − −         × × +        
         
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